Fully-Worked Solutions

PRACTICE 4
I Section A

1 1 25 10
1 4?.3?— 6 . 3
=25:20
=5:4
Answer: A

2 Farid’s mass = 78 kg
Brother’s mass = 60 kg
Sister’s mass = 42 kg
Farid’s mass : Brother’s mass : Sister’s mass
=78:60:42
=13:10:7
Answer: B
3 12:21=4:7
8:14=4:7
Answer: C
4 12cm:60mm:09m =12:6:90
=2:1:15
Answer: A

5 Bottle A: % = 8 per litre

Bottle B: % = 8.5 per litre

Bottle C: % =9.67 per litre
Bottle A is more affordable.
Answer: A

72 000
90
Answer: A
7 1950 5 470 =33 135
100
Answer: C
8 A:D=5:6=20:24
D:F=8:3=24:9
A:D:F=20:24:9
Answer: D
9 7units=630¢g
lunit=90g
Mass of water needed =4 x90 g
=360g

=800 cm? per second

Answer: D

4
10 X - =
0 320 50

4
x = 50 x 320
=25.6
Answer: C
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11 -2 x124=99.20
100 *
x _ 99.20

100 ~ 124

~99.20
x == X 100

x =80
Discount =100 — 80
Answer: A
12 64:36=16:9
Answer: D

I Section B

.g H

6:12:14 9:21:42

16:22:8 | 15:30:25

63:42:28

39:13:52

12:24:32

©
d
3 (a) 0.04:0.16:024=1: :IZI

(b) 1%:1:2%=E|::9
(c) 18cm:30mm=|Z|:1

32 80

4 (a) K=4O, 7:40
60
Proportional

600 1500
24 P05
Not Proportional
3100 11750
400 1500

Not Proportional

(b) =278

=7283

(c) =7.75,
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A1




10 000

(d) 15

=0666.67,

@ = 666.67

Proportional

I Section C

1 (a) (1) 24+6:42+6:30+6

=4:7:5
(i) 0.2:0.6:0.08=20+4:60+4:8+4
=5:15:2
... 9 3 12
(iii) 10><10. 2><10. 5 x 10
=90+3:15+3:24+3
=3:5:8
(b) (i) 6+2+5=13units
=78 cm

1 unit=6 cm
PR=(6+2)x6=48 cm
(i) O0S=2+5)x6=42cm
(c) (1) 30+6:72+6:48+6
=5:12:8
(i) 72:48=3:2
2 (a) (i) 2 units =RM1 400
1 unit = RM700
Levin’s income
=5x700
=RM3 500
(ii) Total income
=12 x700
=RMS 400
(b) 2 units =16
1 unit=38
Total number of apples in sacks A and B
=(B3+6)x8
=72
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() 35% =14= 5% =2 = 100% = 40

5 units = 40

1 unit=38

Total number of students

=8x8

=64

3 (a) (i) 7units=RM2 100

1 unit = RM300
4800 = 16 units
x=16-5-7=4

(i) 4 x300=RMI 200

63 +
) (i) S3m _ 63+1000km

1s 1+3600]
=226.8 km/j

63m _ 63+ 1000km

Is  1+3600h
=226.8 km/h

46kg _ 46x1000¢g
1/ 1x1000cm’®
=4.6 glem’

() () p:q=3%x3:8x3=9:24
qg:r=6x4:5x4=24:20
piq:r=9:24:20

(i) a:b=4%x3:9%x3=12:27
a:c=3%x4:4x4=12:16
a:b:c=12:27:16

(ii)
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